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17. 15 {0,1) a solution of the inequalities 1 -x>3yand3y—1>2x 2

18. How much of a 40% saltwater solution do you rized to mix with a 15% <
saltwater solution to make 50 gallons of a 25% saltwater solution?

19. Mark is making cherry pie and apple pie for a fundraiser. Mark is confident that he will be able to sell all the
pies that he makes. There are two consfraints that limit his production today:

SUGAR: Each cherry pie requires 2 cups of sugar. Each apple pie requires 2 cups of sugar. Mark only has 16
cups of sugar.

Flour: Each cherry pie requires 4 cups of flour. Each apple pie requires 2 cups of flour. Mark only has 24 cups
of flour.

Write two inequadlities. Then, find the intersection of these inequalities to show all combinations of pies that Mark can
make with the two constrains given.
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Suppose each cherry pie makes a profit of $5.50 and each apple pie makes a profit of $4.25. How many cherry pies and
apple pies should Mark make in order to maximize his profit?
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